MATH 2060 TuTOC

9. Letf, and f, be bounded functions on [a, b]. Show that L(f,) + L(f,) < L(f, +1>)
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12. Letf(x) = x? for 0 < x < 1. For the partition P, := (0, 1/n, 2/n,..., (n —1)/n, 1), calculate
(f P.) and U(f,P,), and show that L(f) =U(f) =1 (Use the formula 1>+ 2
4+ +m* =im(m+1)2m+1).)
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21. Show that if (f,), (g,) converge uniformly on the set A to f, g, respectively, then (f, + g,)
e converges uniformly on A to f + g.
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Problem 11.6 Determine whether the sequence { f,,} converges uniformly on D.
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